FH2EE ARIEE mmie: g S— — R

= _ & £ |2iga| BEK _ LERTHER R ABEEEH HiE IV HY—H& ER A1(m2) A EHR A1(m2)
&S| HBRE BIRE [Pikc:) | () (m2) _ BEDBES pr—— A — i 2 3 4 5 3 =t L<10m L=10m L<10m L=10m
ANTE | 2<L=5 [5<L=10[10<L =15] b | By (SRS 25 | 2 [ FE bl 1 3 [ 4[5 |1 2347581273 5 | 1 [ 2 [ 3] 475
1 | BHRKIE |ENEFR=AR|  L/WNET 73 45| 329 O 1 RCER#RAB (¢] (@] o 329
2 RHHE  |ENEFR=AHR|  L/RET 106.8; 75 801.0 RCTHi#& e} (0] (e} 801.0
3 FFE | EERsroEs| L/ RET 12.0 44 528 O 1 RCERIR1E (e} [¢] (e} 52.8
4 $#45  |msEmsEes|  L/RET 85.2 62 528.2 PCTHi#& o o o 528.2
5 HRIE |mEmoBuEs|  L/NET 21.0 66| 1386 SERHTHE o o o 1386
6 |eTUCHEE EDERIEIRR| L/ PRET 820 25 205.0 SRERATHE (0] [¢] (e} 205.0
7 | HARRELE | ETESRRELR | L/MET 6.6 42 217 © 1 HHITHE (0] o (e} 27.7
8 —5iE  |ERELRISH|  L/RET 23 101 232 O 1 RCi##E (e} o O | 232
9 | HEEFIE (ManmSEnR L/ KE 45 31 140{ © 1 RCERHR1% (0] [¢] o 14.0
10 WIS BTE R 1L/ BT 37 5.7 211 O 1 RCER1RHS (0] [¢] o 211
11 REMHE  |ELERTAISER| L/ MET 338 50 190 © 1 RCERHR1% e} o o | 190
12 wE5E  |RLERTM2EER|  LL/RET 30 22 6.6 K- SBHATHE (0] [¢] (e} 6.6
13 | EHf2S48 (RNERTMISHR| 1L/ PET 5.0 25 125 K- SBHATHE (e} o o 125
14 HAE |mEmmsagesa| LU/ RET 6.9 28 193] O 1 RCER#RIE O o (e} 19.3
15 B |EEHEHaR|  L/RET 6.3 35 21| O 1 RCER#RIE O o (e} 221
16 REE |mEsEnoms|  1L/REr 78 29 26 O 1 RCERHR1% (0] [¢] (¢] 226
17 |dLRERBELE ETEALRASHR| LU/ MET 200 9.0 180.0 PCHA—Hi#E (0] (0] o 180.0
18 | Mk [EHETIES] WowET | 1075 107 11503 Ro#E | o o o 11503
19 | T |memmeze) wome 100 72| 1368 Pora—#ite] o o o 1368
20 |RABLHIERE EaEHBESR| L/ RET 85.3 28 2388 RCHZEFR AR (0] (0] (e} 238.8
21 00
22 00
23 00
24 00
25 00
26 00
27 00
28 00
29 00
30 00
20 (RIBPAE) (20)
10 4] 5) 1 2 1 0] 11 6 0| 7 13 20, 2 0 6 0 0| 0 1 1 5 0| 0 0 3 0 0| 0 0 1 1 0|
20| _| 422 0.0 11320 0.0 0.0 0.0 180.0 | 52.8 [2855.1 0.0 0.0 00| 468 0.0 0.0 0.0 0.0 | 205.0 | 138.6 0.0
| 1742 3087.9 48.8 3436

EHRRFAE(L9 2088] 1 /1



